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10.

I1.

12.

13.

OftERIMEME + AU ~ AS ~ AHEER 0 -
DQF=C—P+2 =C [&EHK;: F B P RKIFHE ; @F=C—P+1=1—-2+1=0>-
(D)% FEE P EREFIA -

(C)BYJE S B RIS RS IR b -

8 X 107°=Kk(0.2)(0.2)

k=1.00M~? + min~"

(A)Inm=10""m ; (B)FFIRIIZHRM —AMLEL » (OBIGE -
(1)Zn+2Ag"—Zn*" +2Ag E'=1.56V

(2)Zn+Cu**—=Zn*" +Cu E'=1.10V

(1)—(2) 2Ag"+Cu—>2Ag+Cu** E'=0.46V
Cu't+2e"—>Cu E'=0V

SAg T +e—>Ag E'=0.46V

@Rt B SR H B R S A R -

fEfE— : AU=nC, AT=1Xx % X 1.987 % 100=298.1

AH=nC, AT=1X % X 1.987 X 100=496.8

IR R AU=0; AH=0

D=15000x 2327005 _ 5409
0.95—0.05

L=5000X 1.5=7500

V=L+D=7500+5000= 12500

(B)HE%HE « Z=1

i 27R*TE  27x0.082% x100°

= =0.946
64P 6430

(B)Fs(101) -
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22.
23.

24.

25.
26.
27.
28.
29.
30.

OHEALRRIRFUCEITE ~ SRR 5 OFE il L R HE3 I B S I BB S B [
JEESRET I -
(OB BT A TR R AR PR A (R B R A< Ja P AE —ilE

R=10+ 215 _r00q)
30+15
45

V=2 X10=22.5(V)
20

2% R=k[NH, J'[NO, ]’
(D) H2)/(1)
1.08x107¢  0.02
54x1077 0.01
L) H(5)/(4)
3.24><10:Z _( 006
2.16x10 0.04
.".R=K[NH,"][NO, ]
(B)E MRS e HAB R R R I L 5 (C)(D) il S e~ HA B Rl S L
AKEBERER » ZEAEIKIERIER © (B)ZKIY =HHBERE ) Sl R s 8Bk
(C)7K AR [EIBEFERE JJRe TR, 5 CO, PRSI BEFERE i ik 4> -
Q@RI QEEWIM ; @H, SO, JEERFK -
(1)CH4+20,—>C0,+2H,0
70 2X70
(2)C,Hg +3.50,>2C0, +3H,0
20 3.5%20
(3)C3Hg + 50,—>3C0, +4H,0
10  5x10
ERPR A = 140+ 70+ 50 =260mol

HA é—ﬁiz%xw:wsogﬁz
r, _ 50x0.880

728 110x0.998
SERETR AT R BGEREE HREIEL > u e VAP

(D)3 A AT A VPR X, =

(D) » LB S5 -

(B)A: AR IA ELIS ESH R » 57 Al S e B8 -
(D)EWHSIR RS04 » (KRR RS T2 bR -

(AVEHIER s (OEFINEVATERR ; (D)IEMR » CO, VAIRRER/]N -

P =a=1

g

e

' 1,=29.1
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38.
39.
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42.
43.
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45.
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47.

48.

49.

50.

(B)BEFIEREE Ry B 1AL > 225 P /K 2K SR GE BRI IR -
(D)FHBEVEE SRR - B RERGHE -
AP=0.2x1000Xx 10X % X 107*=1kPa

(D)5 4a EE B R E S /]
0.1X80040.1X1X(80—40)=0.5X4X(T—20)» T=62(C)
(A)FERHRIETR 58 5 (B)ZRERR 2 IERGS & AR 15 (Ol ErHE#UA
BRVA AR -
(C)fifizr FHPS R BE RIS A TR
(A)DUREABE IR B 0 BERAE 5 (B)FLISAVIN © G > st e > 2iE -
(Cy7kZ SRR B A e Bl B EEA /K IR RS I 2K E -
(CHEIRA TR P BRIRS -

1—x

0.28= % — x=0.88(kg)

20
(OB IKE -
100m 1km 3600s km
X X =375——
9.58s 1000m lhr hr

BREFEAN H>ZL>H>T

HREEAN H>Z>H>T

= HHEZBEITR/N  H>Z>W>T

(B PR T {5 A RS YRS
BEHREL=10:20=1:2

1 X1X(50—20)=2X1X(T—20) > T=35C
wD>=uwD,> =10x2’=u; X1> = uy =40cm/s

Vzu(% ﬂDz)ZIO(% 7 X2%)=31.4cm’/s

(A)0.1X4X(50—20)=12kW ; (B)0.5X 1.5X(60—50)=7.5kW ;
(CO)1 X1X(50—35)=15kW ; (D)0.01 X2000=20kW

_ Arxr, xn xkx(T,—T;)  4x3x0.6x0.5x0.02x100
N L, B 0.1

(CZBZRHE 10°C R E 0505; o SOsA JEUIIA 1008 ZASZ S 10°C ok

q =T72(W)

BRIV > ANED -





